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(32&3) wastd | ®a2rty | SUAE | HE
Ark(171/300~3509) 2,293 2,155 138 6.41%
Hi (17H/650~700g) 4,440 4,081 359 8.80%
2(171/1kg) 1,976 1,766 210 11.89%
Hi 2=(1 27| /3kg) 4,756 4,221 535 12.68%
CHitH(15/S/1kg/2E 7HA) 3,000 2,654 346 13.03%
20|(37H) 4,274 2,277 1,997 87.70%
K| 27| (= 4t/of 8 2/6009) 15,870 18,940 |- 3,070 -16.21%
SET= SE71(10F2] /1kg) 8,047 7,202 845 11.73%
(16E5) A 7[(m A/ HE LR /15 40,972 38,636 2,336 6.05%
A0 7|(F4A/54/6009) 59,384 67,998 |- 8,614 -12.67%
= ZF(1EH/CH2k/307H) 7,436 7,274 162 2.23%
Z7|(10t2| /= 4t/15cm) 1,377 1,000 377 37.67%
ZX|(10t2]|/=4H/80ecm) 7,649 7,513 136 1.81%
dso0{(10r2]/=LtH/30cm) 3,366 4,273 |- 907 -21.23%
HEf(10r2]/2H A|OFLF/40¢m) 4723 4,616 106 2.30%
L H0o{(10t2|/3-=/30cm) 4,556 4,539 17 0.37%
% (20kq) 53,239 57,030 |- 3,791 -6.65%
2|2 = 4/1kg) 3,242 3,138 104 3.31%
LIt (1kg) 2,028 1,956 72 3.67%
7tOHS (1kg) 12,133 11,823 310 2.62%
L7t F (S EHE/1ko) 2,152 2,094 58 2.77%
2 ((152/300g/3 At +W1| 1,243 1,333 |- 90 -6.75%
MEE M%%(1.8L/+7| 8,273 7,546 727 9.64%
(148 5) Z7t2(1kg/= LHM) 26,616 28,286 |- 1,670 -5.90%
D1| Z=Z(1kg/=LH4Ah 12,879 10,788 2,091 19.39%
LA 1kg/=LHAD 5,706 4,476 1,230 27 .48%
—*‘erm /5009) 2,960 2,366 594 25.12%
3|22 (L) 2,211 2,038 173 8.49%
74 S2(1L) 2,129 2,065 64 3.07%
S(1L) 1,715 1,528 186 12.19%
~ = AT(1 %'g' 36OmQ/_+_DH7.§1) 1,799 1,484 315 21.22%
o O 2= (19 500me/A 01 ) 1,878 1,643 235 14.30%




